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Review for Triangle Proofs Quiz
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In 19, each figure shows two triangles and congruent parts have been marked. Identify the postulate
(SSS, SAS, ASA, AAS or HL) that can be used to prove that the triangles are congruent, or write “can’t

be done”.
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10. Name the sides that would have to be

congruent to use the SSS congruence postulate.

11. Name the sides that would have to be

congruent to use the SAS congruence postulate.

C

. _’__F
AC=DF

12. Name the angles that would have to be

congruent to use the ASA congruence postulate.

) c

g

ey
__ B

JADBE LCBD

13. Name the angles that would have to be
congruent to use the SAS congruence postulate.
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14. Name the angles that would have to be
congruent to use the AAS congruence postulate.
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15. Name the sides that would have to be
congruent to use the SAS congruence postulate.
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Triangle Congruence

Name the congruent triangles.
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II. Name the congruent triangle and the congruent parts..
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Use the congruency statement to fill in the corresponding congruent parts.
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22 'aPQR =aMNR. Find x. A3 sABC=aADC. Findy.
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Proving Triangles Congruent 0
| 3. Given: ZP and £M are right angles. P]—\B;\R y @
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II. For each pair of triangles, tell: (a) Are they congruent? (b) Write the triangle congruency statement.
(c) Give the postulate that makes them congruent.

1. 2. 0 3. Given: T is the midpoint of WR
D 1 C
\ S A . B
N T
-+ 2 ' L E \Y W R
All B

a Vg5 a. \Jt’/5 a_ NQO \-

b. AECD =A EAD b.AOLE =A ONE bAN =

c. ASA c. 555 c._, -

4, 5. Given: TH bisects < WIS 6. l
E ; G 3> ¢ I L U
\/ZZ/.\ . /<>L | A

F ' H | W I‘HT S G -

a. \145 a. \"’S a YéS

b.AEGF ~A HF & b.AWER =A 5T ¥ b.ALEG =A ELWU

e. SAS c. ASA e.  ASA

7, 8. 9

i W A
| v ! :

VAN, : B

4 VA =

« N . Y { 2 T

/U /T | ' ‘ M

a. &S a. \!(15 . NOLV

b ARUT = A TS b, AWNY = A 7YV b AN =

c.  ASK c. SAS ¢,
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of ME and SL

11.

12.

A B D

a. .

b. A \7~='< ‘

c. :
/ hY

E

IIL. Using the given postulate, tell which parts of the pair of triangles should be shown congruent.
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